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ALL Transformation Review

Multiple Choice

Identify the choice that best completes the statement or answers the question.

J 1. Point{4 (=2, —10} is reflected over the x-axis. The new coordinates of A’

g e

(a) (2, -10) (c) (-2,-10) x|
(b) (2, 10) | (2,10)] e |
C’ 2. Pomt@ is rotated 180° about the origin, what would be the new
" the coordinate of D?
(a) (4, 2) (©) (-2, -4) /h ik
(b (4, -2) (@) (4, -2) Sx |/

A 3. PointiX (-3, —2)] is translated using the rule (x,y) - (x+3,y +4)

What is the coordinate of X?

-2 -2

@ (0, 2) (©) (2, 0) +2 44

(b) (0,-2) (d) (-2, 0) C 2

C 4. If this triangle was reflected over the y-axis to form AHJ'K’, what would
be the coordmates of vertex K? S—
/ @@-6) ()5 6)
:1' {H J
N 4 02 - o I 4 -

= 1 (b) (6,6) (d) (-6, -6)

;I,
'



d 5. Figure ABCD has vertices A (6,-4), B (2, -4),C (8, -3)land D (2, -3).

Which would be the coordinates of vertex C’ after the rectangle is rotated 90°
counterclockwise about the origin? \

A)(-8,-3)  B)(83) 0 (3r8)  [D)(38) \.D

9_ 6. Which of the following transformations does not result in a congruent

figure?
(a) dilation (c) reflection
(b) rotation (d) translation

b 7. CD was dilated around the origin by a scale factor of( 2) The endpoints
of the image are(C'(4,0)| and|D'(6,2)). What are the coordinates of the end-

points of the originalline segment? N~ After Ailahon 2.
() €(20),0(30) () €(20),0(1,) C(__. Q)(z,0)
|(®) €(2,0),0(3,2) (d) C(4,0),D(6, 2)D(fa Zy (3

a 8. Using the graph below, what is the rule for a translation fro from point 4 to
point D?

Il H
5 B et e B b

(@ e 24y 1)] (b) (x,y)—> (x—1,y + 4)

(c) (y) > (x—4,y+1) (d) (xy) = (x +1,y-4)



| e ——— e —— —

C 9. What set of coordinates would move the vertices for the translation of

AXYZ two units to the left?
¥ 044 -2 Yo e,
Syl (NS L RS | R D"X(?)D
% (-\ 1) | [T {29
oA (4 4)'? At
f z (222 (0,2
AT !_,_HFX * Fom usng
_}i in “ne gvagh |
-H r
[ |
(a) X(1,1), Y(6,4), Z(4, -2) (c) X'(-3,1), Y'(2,4), Z(0, -2) _)
(b) X’(']-:l)r Y'(4l'6)l 2(2, 0) (d) X’(-3f1)! Y’(1r4)r Z('Zr 0)

CHT UP
__CL 10. write a description of the rule (x,y) - (xé

(a) translation 10 units to the right and 8 units u up ‘

(b) translation 10 units to the left and 8 units down

(c) translation 10 units to the right and 8 units down

(d) translation 10 units to the left and 8 units up

b 11. The dilation of a figure can be described as (x,y) - (2x, 2y). What is
the size of the dilated figure in respect to the original figure? 6 ( M {:a.d
A) the side lengths are 2 _time:
) the side lengths are 2_times O-(' A

e side lengths are increased by 2 units
D) the side lengths are decreased by 2 units




) 12. Which of the following transformations may result in a figure that is not
congruent? % S\ZE 'IY\OUL/ hange ¥ 5[/19;,[)8 STZLLj ste Same

A) reflection | B) dilation| C€) rotation D) translation

Similar figures
£ .13, If point F (7, 1) is translated 6 units t0 the right and 4 units down,
which coordinate represents F'?

A) (3,7) B) (1,-3) C) (13, -3) D) (1, 5) _39) -4
Lo i . To) =+
__\~ 14. Which is true about a translation? | % '_3

A) The angles inside the figure change

B) The side lengths of the figure change
jf‘C)"’I'ﬁ'é"irr'iTége and the original figure are congruent

D) Orientation of the figure changes

__a_-_ 15. Orientation is not preserved for which of the following?
[A) reflection|  B) dilation C) rotation D) translation

16. Complete
using the point (2,-6)

Fx-axis (2/'6)9 ( ;2\ (9 ) -E‘

ry-axis(2/'6)_) (";sl—b) N-{-'
To-4(2-6)-> ( 2'-10) = \

ro -l
T43(26)> (- -3) T
25 3 7%

B9 -2

Riso° (2,-6) —> (—QI ) @
D/ (2-6)> (&, -24)

2.'—,}""(0!
D, (2-6)-> (5 -2)
3 b )

z

1 )3\_'

"’__l‘?_,.!.-
I 3

-.-i-l

)



17. Describe the translation for this notation:

X y) —> (x +8,y-15)

B 1o +the right and down 15

18. The line AB is rotated about the origin.

How would you describe the relationship between the /engths of AB and A'B' ?

1 ¢ ™A - ——
The two lines would be _ &9Y j\f LENT

19. A point (a, b) is reflected across the y-axis. What are the new coordinates?

The new ordered pair is ("" A J b)

9;%- Loovdinate
YC;-H'W. Same

X X- toovdinale Changes sign

20. When an image is translated , what term can be used to describe the new

image size & shape as compared to the pre-image?

21,
Given the coordinate plane:

Complete the missing information
on the coordinate grid by:

> numbering the quadrants

> stating the signs of the x & y co-
ordinates

The preimage and the new image are (on AY U ent
o

et
{ Quadrant # { Quadrant =

T r H

(""' ] +) (“' ] + ) i ks

Pt ccte |

]

Quadrant = | Quadrant =
a1t N

= ") L (+ y i)




For each of the following graph the image of the transformation as given.
Label each new vertex with the appropriate prime notations.

22. 90° clockwise rotation about the origin ~ 23. Translate 2 right and 3 up

- Y

2(-40) Fs-2) L(o,3)
Z'(0, ) 5(—& 5) L'(-3,0)

24, Reﬂectlon across the y-axis 25. 180° rotation




